Promecam punch holder - REF: 140-16-01-00023

Description

Punch holder for all kind of punches for Promecam bending or folding press.

Max. Folding lenght 150 mm
Weight 14Kg
Compatible with any Promecam punch
Parts list
10
9 9
Ne REF Description Quant.
1 PUNZON 120 PUNZON PROMECAM 10_00 88 835 1
2 125-16-01-00021 PORTAPUNZONES PROMECAM 1
3 020-D913-M10X10 ESPARRAGO ALLEN DIN 913 M10X10 1
4 020-D913-M6X20 ESPARRAGO ALLEN DIN 913 M6X20 2
5 020-D934-M20 TUERCA DIN 934 M20 1
6 125-16-01-00131 SOPORTE POSTERIOR 2
7 125-16-01-00130 GUIA D70 SOPORTE POSTERIOR 3
8 020-D912-M10X50 TORNILLO ALLEN DIN 912 M10X50 1
9 125-16-01-00132 TORNILLO REGULADOR REFRENTADO 3
10 020-D912-M16X60 TORNILLO ALLEN DIN 912 M16X60 1




